44

FIFE / Product Number

AU -

Hti&

H dimension

Wtk

W dimension

B 1L#%k / Feet specification

BTY=h)LT—4 / Technical Datall
#E{TJLY / Recommended torque: 0.3N*m ~ 0.6N-m

F view
Dtk BER/A EXEP/H Bk
D dimension Feet (R or A) Screw (P or H) Color Type

¥R AZ / Components
No. # ¥ / Part name = / Pcs #& / Material - RELIE / Color-Finish
! a—+F—Javy 4 TILSH A F v ADC12 DIVR—, TSy B (RERRILE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) R ) TILSHH M A6063S-T5 DIN—,TS97-TILIA
Frame Extruded aluminium A6063S-T5 Silver , Black+Anodized
3 IL—L 4 7L AT A6063S-T5 DIIN—, TSV TILIAk
Panel support frame Extruded aluminium A6063S-T5 Silver , Black+Anodized
s INRIL ) 7ILZHR A1100P DIVIN— TS99 TILIA+
Panel Aluminium A1100P Silver , Black+Anodized
5 H3— 1 T ILEHR A1100P DIIN—, TSV TILIAk
Top cover Aluminium A1100P Silver , Black+Anodized
6 THhi— 1 T ILEHR A1100P DIIN—, TSV TILIAk
Bottom cover Aluminium A1100P Silver , Black+Anodized
JLE TPE (TJAR) T390
; Ruber feet 4 TPE (Elastomer) Black
TSR TIT&)arT L DW=, TSV TILIAL R TS5V
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
g ER{FE R (MM3 x 8) 1 % = LAvE
Screw (Flat head M3 - 8) Steel Nickel plated
9 BFER (M3 x 5) i % ZuLAvE | R o0A—k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
10 BAFER (/812 KM4 x 8) 4 &% =ERoOA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate

EH2E R{L#%k / Original trapezoid head screw specification

030 10

030 12

IE JL 2 / Rubber feet

FILEZE / Aluminium feet

[P] 735X / Phillips

7%ff / Hexagon—socket

{1k / Color Type

XK TIWIRDBETHN—ERBEGYET,

X Color of aluminum feet will be the same as bottom cover color.

BRSUINTFERT S

mmf/Title
TFILE Yy 5—R

o]

RIE/Scale

R—T/Page

585 / Code | O—+—7JOw% / Corner block {8I#% / Frame INAJL / Panel H/\— / Top cover | T H/\— / Bottom cover TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE
S S < JLiN— / Silver < )LsN\— / Silver < JLiN— / Silver < JLiN\— / Silver < )LiN— / Silver 7 5%/ Approved &/ Checked #1[X]/Created FIFE /Product number
S B 'S D \—/ Si D \— /Si D \— / Si 3 \— / Si
?7)9 / Black /‘}I// / Silver 17 ‘ / Silver {)b/ / Silver /‘)l//\ / Silver EP*E F E? AU44_50_30D D_D D
B S T5w% / Black 73w / Black L ILiN—/ Siver | T5v% / Black 7Zv% / Black
B B 735w / Black 7594 / Black 75949 / Black 7594 / Black 75v% / Black {ERL B /Date 2023/11/30

177

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




E view

B-B(1:65)
o g fe ) o)
a.
A-A(1:65) C-C(1:65)
e E—— ——3
< T T I 0
C C N ~
™
286 493
o Iy ::J ‘, o .‘
453
D view A view C view B view
500 0.8 300£0.5
@
i} _ S _ _
[ [ A Il IJ ——— 7]
F view
Q ° *)
U ) o ) L
mmf/Title
TAKACHI] BXRHMANTFEHITE TIPS —R O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE
7 B/ Approved &/ Checked #1[X]/Created FIFE /Product number RE/Scale
1:6.5
thif E3 HT AU44-50-3000 -0 —
{ERL B /Date 2023/12/15 2 /1
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

250 22.5
(ap)
|| 3.3
~
) L
3.3
2.5
™
<
5 2-M3FH IR 5
2-M3 Countersunk
¥ RXTEEEIFR / Same on the other side.
R / Front side Z M / Back side
D {8I#% / D Frame
M@ / Front side % / Back side
fnd/Title
TAKACHI] #RXEitahFERTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 ER/ Approved t&X]/Checked #1[X]/Created R F /Product number RE/Scale
1:2
iR £ wF ~R—/Page
H44 - D300 YERLH/Date 2023/12/21 3 /717

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

450

L7\

L3\

R

S

2-M3FHY IR
2-M3 Countersunk

M3

45

14
)
2.9

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
IL—L

Panel support frame

o]

755/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1:2
iR : w4t —
W500 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\N2R)L / A Panel

450

33

R / Front side

B /\2~JL / B Panel

B#~ti% / Max dim. 442 £0.8

XM / Front side

E#~Fi% / Max dim. 25 £0.3

1.5

fREE— A I

Surface protective film side

Z M / Back side

RE€ES — A

Surface protective film side

% / Back side

anda/Title
TAKACHI| #REH4hTFEHTE S O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:1
iR =3 wF R— /Page
H44 - W500 {ERL B /Date 2023/12/21 5 /1

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

; o
S N

M@ / Front side

489.4

470

A#h~ti% / Max dim. 453+ 0.8

6-@4.5

A#h % / Max dim. 253+ 0.5

R — Al

Surface protective film side

2@ / Back side

s/ Title
TAKACHI| ¥X&suahFEHIE HI8— @ CI
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7:R/Approved | 1&E/Checked B /Created | Z!#&/Product number FeR/Seae
1:45
iR ES it R—T/Page
W500 - D300 e B /Date  2022/11/16 6 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
< o =
g R 5

R / Front side

489.4

470

4414

6-4.5

<ti% / Max dim. 253+ 0.5

#

=l

H#TiE / Max dim.

4-M4

453+0.8

RE—MA

Surface protective film side

ZEME / Back side

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

A2/ Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:45
iR 3 it S
W500 - D300 YER B /Date 2022/11/16 1771

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






